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1 Test Information

1.1 Test Candidate Information

The Module task is designed to help with task issues like periodic tasks, delayed tasks, queues, threaded queues and

crontabs. For more Information read the documentation.

Library Information

Name task

State Released

Supported Interpreters python2, python3

Version 138e2db63e5416bcfc110e775fb54e4c

Dependencies

1.2 Unittest Information

Unittest Information

Version bf12903e8541ad442a6d670b0e5f89b9

Testruns with python 2.7.17 (final), python 3.6.9 (final)

1.3 Test System Information

System Information

Architecture 64bit

Distribution LinuxMint 19.3 tricia

Hostname ahorn

Kernel 5.0.0-37-generic (#40 18.04.1-Ubuntu SMP Thu Nov 14 12:06:39 UTC 2019)

Machine x86 64

Path /user data/data/dirk/prj/modules/task/unittest

System Linux

Username dirk

2 Statistic

2.1 Test-Statistic for testrun with python 2.7.17 (final)

Number of tests 9

Number of successfull tests 9

Number of possibly failed tests 0

Number of failed tests 0

Executionlevel Full Test (all defined tests)

Time consumption 216.908s
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2.2 Test-Statistic for testrun with python 3.6.9 (final)

Number of tests 9

Number of successfull tests 9

Number of possibly failed tests 0

Number of failed tests 0

Executionlevel Full Test (all defined tests)

Time consumption 216.877s

2.3 Coverage Statistic

Module- or Filename Line-Coverage Branch-Coverage

task 98.9% 98.0%

task. init .py 98.9%
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3 Testcases with no corresponding Requirement

3.1 Summary for testrun with python 2.7.17 (final)

3.1.1 pylibs.task.crontab: Test cronjob

Testresult

This test was passed with the state: Success. See also full trace in section A.1.8!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (28)

Start-Time: 2019-12-27 08:21:07,418

Finished-Time: 2019-12-27 08:21:07,427

Time-Consumption 0.009s

Testsummary:

Info Initialising cronjob with minute: [23, 45]; hour: [12, 17]; day: 25; month: any; day of week:

any.
Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

True and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

True and Type is <type ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Info Storing reminder for execution (minute: 23, hour: 17, day: 25, month: 2, day of week: 1).

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

True and Type is <type ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Info Resetting trigger condition with minute: 22; hour: any; day: [12, 17, 25], month: 2.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

True and Type is <type ’bool’>).
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Success Return value for minute: 22; hour: 17; day: 25; month: 05, day of week: 3 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <type ’bool’>).
Info Resetting trigger condition (again).

Success 1st run - execution not needed is correct (Content False and Type is <type ’bool’>).

Success 2nd run - execution not needed is correct (Content False and Type is <type ’bool’>).

Success 3rd run - execution needed is correct (Content True and Type is <type ’bool’>).

Success 4th run - execution needed is correct (Content True and Type is <type ’bool’>).

Success 5th run - execution not needed is correct (Content False and Type is <type ’bool’>).

Success 6th run - execution not needed is correct (Content False and Type is <type ’bool’>).

3.1.2 pylibs.task.crontab: Test crontab

Testresult

This test was passed with the state: Success. See also full trace in section A.1.9!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (29)

Start-Time: 2019-12-27 08:21:07,428

Finished-Time: 2019-12-27 08:24:37,527

Time-Consumption 210.100s

Testsummary:

Info Creating Crontab with callback execution in +1 and +3 minutes.

Success Number of submitted values is correct (Content 2 and Type is <type ’int’>).

Success Timing of crontasks: Valueaccuracy and number of submitted values is correct. See detailed

log for more information.

3.1.3 pylibs.task.delayed: Test parallel processing and timing for a delayed execution

Testresult

This test was passed with the state: Success. See also full trace in section A.1.1!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (21)

Start-Time: 2019-12-27 08:21:00,318

Finished-Time: 2019-12-27 08:21:00,828

Time-Consumption 0.510s

Testsummary:

Info Added a delayed task for execution in 0.250s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
Success Time consumption is correct (Content 0.25037693977355957 in [0.2465 ... 0.2545] and Type

is <type ’float’>).
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Info Added a delayed task for execution in 0.010s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
Success Time consumption is correct (Content 0.010622024536132812 in [0.008900000000000002 ...

0.0121] and Type is <type ’float’>).
Info Added a delayed task for execution in 0.005s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
Success Time consumption is correct (Content 0.005093097686767578 in [0.00395 ... 0.00705] and

Type is <type ’float’>).

3.1.4 pylibs.task.periodic: Test periodic execution

Testresult

This test was passed with the state: Success. See also full trace in section A.1.2!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (22)

Start-Time: 2019-12-27 08:21:00,829

Finished-Time: 2019-12-27 08:21:03,371

Time-Consumption 2.542s

Testsummary:

Info Running a periodic task for 10 cycles with a cycletime of 0.25s

Success Minimum cycle time is correct (Content 0.2503390312194824 in [0.2465 ... 0.2545] and Type

is <type ’float’>).
Success Mean cycle time is correct (Content 0.25071009000142414 in [0.2465 ... 0.2545] and Type is

<type ’float’>).
Success Maximum cycle time is correct (Content 0.2511889934539795 in [0.2465 ... 0.2565] and Type

is <type ’float’>).
Info Running a periodic task for 10 cycles with a cycletime of 0.01s

Success Minimum cycle time is correct (Content 0.010482072830200195 in [0.008900000000000002 ...

0.0121] and Type is <type ’float’>).
Success Mean cycle time is correct (Content 0.01073855823940701 in [0.008900000000000002 ...

0.0121] and Type is <type ’float’>).
Success Maximum cycle time is correct (Content 0.011135101318359375 in [0.008900000000000002 ...

0.0141] and Type is <type ’float’>).
Info Running a periodic task for 10 cycles with a cycletime of 0.005s

Success Minimum cycle time is correct (Content 0.0053789615631103516 in [0.00395 ... 0.00705] and

Type is <type ’float’>).
Success Mean cycle time is correct (Content 0.0056752363840738935 in [0.00395 ... 0.00705] and Type

is <type ’float’>).
Success Maximum cycle time is correct (Content 0.006085872650146484 in [0.00395 ...

0.009049999999999999] and Type is <type ’float’>).

3.1.5 pylibs.task.queue: Test clean queue method

Testresult

This test was passed with the state: Success. See also full trace in section A.1.5!
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Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (25)

Start-Time: 2019-12-27 08:21:03,585

Finished-Time: 2019-12-27 08:21:03,589

Time-Consumption 0.004s

Testsummary:

Info Enqueued 6 tasks (stop request within 3rd task).

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).

Success Size of Queue after execution is correct (Content 3 and Type is <type ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
Info Cleaning Queue.

Success Size of Queue after cleaning queue is correct (Content 0 and Type is <type ’int’>).

3.1.6 pylibs.task.queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success. See also full trace in section A.1.3!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (23)

Start-Time: 2019-12-27 08:21:03,371

Finished-Time: 2019-12-27 08:21:03,477

Time-Consumption 0.106s

Testsummary:

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

3.1.7 pylibs.task.queue: Test stop method

Testresult

This test was passed with the state: Success. See also full trace in section A.1.4!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (24)

Start-Time: 2019-12-27 08:21:03,477

Finished-Time: 2019-12-27 08:21:03,584

Time-Consumption 0.107s

Testsummary:

Info Enqueued 6 tasks (stop request within 4th task).

Success Size of Queue before 1st execution is correct (Content 6 and Type is <type ’int’>).
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Success Size of Queue after 1st execution is correct (Content 2 and Type is <type ’int’>).

Success Queue execution (1st part; identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
Success Size of Queue after 2nd execution is correct (Content 0 and Type is <type ’int’>).

Success Queue execution (2nd part; identified by a submitted sequence number): Values and number

of submitted values is correct. See detailed log for more information.

3.1.8 pylibs.task.threaded queue: Test enqueue while queue is running

Testresult

This test was passed with the state: Success. See also full trace in section A.1.7!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (27)

Start-Time: 2019-12-27 08:21:06,512

Finished-Time: 2019-12-27 08:21:07,120

Time-Consumption 0.608s

Testsummary:

Success Size of Queue before execution is correct (Content 0 and Type is <type ’int’>).

Info Enqueued 2 tasks.

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

3.1.9 pylibs.task.threaded queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success. See also full trace in section A.1.6!

Testrun: python 2.7.17 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (26)

Start-Time: 2019-12-27 08:21:03,589

Finished-Time: 2019-12-27 08:21:06,511

Time-Consumption 2.922s

Testsummary:

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).

Info Executing Queue, till Queue is empty..

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
Info Setting expire flag and enqueued again 2 tasks.

Success Size of Queue before restarting queue is correct (Content 2 and Type is <type ’int’>).

Info Executing Queue, till Queue is empty..

Success Queue execution (rerun; identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
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3.2 Summary for testrun with python 3.6.9 (final)

3.2.1 pylibs.task.crontab: Test cronjob

Testresult

This test was passed with the state: Success. See also full trace in section B.1.8!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (28)

Start-Time: 2019-12-27 08:24:45,074

Finished-Time: 2019-12-27 08:24:45,086

Time-Consumption 0.012s

Testsummary:

Info Initialising cronjob with minute: [23, 45]; hour: [12, 17]; day: 25; month: any; day of week:

any.
Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

True and Type is <class ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

True and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Info Storing reminder for execution (minute: 23, hour: 17, day: 25, month: 2, day of week: 1).

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

True and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Info Resetting trigger condition with minute: 22; hour: any; day: [12, 17, 25], month: 2.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content

True and Type is <class ’bool’>).
Success Return value for minute: 22; hour: 17; day: 25; month: 05, day of week: 3 is correct (Content

False and Type is <class ’bool’>).
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Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content

False and Type is <class ’bool’>).
Info Resetting trigger condition (again).

Success 1st run - execution not needed is correct (Content False and Type is <class ’bool’>).

Success 2nd run - execution not needed is correct (Content False and Type is <class ’bool’>).

Success 3rd run - execution needed is correct (Content True and Type is <class ’bool’>).

Success 4th run - execution needed is correct (Content True and Type is <class ’bool’>).

Success 5th run - execution not needed is correct (Content False and Type is <class ’bool’>).

Success 6th run - execution not needed is correct (Content False and Type is <class ’bool’>).

3.2.2 pylibs.task.crontab: Test crontab

Testresult

This test was passed with the state: Success. See also full trace in section B.1.9!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (29)

Start-Time: 2019-12-27 08:24:45,086

Finished-Time: 2019-12-27 08:28:15,166

Time-Consumption 210.081s

Testsummary:

Info Creating Crontab with callback execution in +1 and +3 minutes.

Success Number of submitted values is correct (Content 2 and Type is <class ’int’>).

Success Timing of crontasks: Valueaccuracy and number of submitted values is correct. See detailed

log for more information.

3.2.3 pylibs.task.delayed: Test parallel processing and timing for a delayed execution

Testresult

This test was passed with the state: Success. See also full trace in section B.1.1!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (21)

Start-Time: 2019-12-27 08:24:37,990

Finished-Time: 2019-12-27 08:24:38,499

Time-Consumption 0.510s

Testsummary:

Info Added a delayed task for execution in 0.250s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
Success Time consumption is correct (Content 0.25007009506225586 in [0.2465 ... 0.2545] and Type

is <class ’float’>).
Info Added a delayed task for execution in 0.010s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
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Success Time consumption is correct (Content 0.010076522827148438 in [0.008900000000000002 ...

0.0121] and Type is <class ’float’>).
Info Added a delayed task for execution in 0.005s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and

number of submitted values is correct. See detailed log for more information.
Success Time consumption is correct (Content 0.00506138801574707 in [0.00395 ... 0.00705] and Type

is <class ’float’>).

3.2.4 pylibs.task.periodic: Test periodic execution

Testresult

This test was passed with the state: Success. See also full trace in section B.1.2!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (22)

Start-Time: 2019-12-27 08:24:38,500

Finished-Time: 2019-12-27 08:24:41,042

Time-Consumption 2.542s

Testsummary:

Info Running a periodic task for 10 cycles with a cycletime of 0.25s

Success Minimum cycle time is correct (Content 0.2501676082611084 in [0.2465 ... 0.2545] and Type

is <class ’float’>).
Success Mean cycle time is correct (Content 0.2504596445295546 in [0.2465 ... 0.2545] and Type is

<class ’float’>).
Success Maximum cycle time is correct (Content 0.2506415843963623 in [0.2465 ... 0.2565] and Type

is <class ’float’>).
Info Running a periodic task for 10 cycles with a cycletime of 0.01s

Success Minimum cycle time is correct (Content 0.01018214225769043 in [0.008900000000000002 ...

0.0121] and Type is <class ’float’>).
Success Mean cycle time is correct (Content 0.010425064298841689 in [0.008900000000000002 ...

0.0121] and Type is <class ’float’>).
Success Maximum cycle time is correct (Content 0.010566234588623047 in [0.008900000000000002 ...

0.0141] and Type is <class ’float’>).
Info Running a periodic task for 10 cycles with a cycletime of 0.005s

Success Minimum cycle time is correct (Content 0.005247592926025391 in [0.00395 ... 0.00705] and

Type is <class ’float’>).
Success Mean cycle time is correct (Content 0.00538325309753418 in [0.00395 ... 0.00705] and Type

is <class ’float’>).
Success Maximum cycle time is correct (Content 0.005558967590332031 in [0.00395 ...

0.009049999999999999] and Type is <class ’float’>).

3.2.5 pylibs.task.queue: Test clean queue method

Testresult

This test was passed with the state: Success. See also full trace in section B.1.5!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (25)
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Start-Time: 2019-12-27 08:24:41,253

Finished-Time: 2019-12-27 08:24:41,257

Time-Consumption 0.004s

Testsummary:

Info Enqueued 6 tasks (stop request within 3rd task).

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).

Success Size of Queue after execution is correct (Content 3 and Type is <class ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
Info Cleaning Queue.

Success Size of Queue after cleaning queue is correct (Content 0 and Type is <class ’int’>).

3.2.6 pylibs.task.queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success. See also full trace in section B.1.3!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (23)

Start-Time: 2019-12-27 08:24:41,042

Finished-Time: 2019-12-27 08:24:41,148

Time-Consumption 0.105s

Testsummary:

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

3.2.7 pylibs.task.queue: Test stop method

Testresult

This test was passed with the state: Success. See also full trace in section B.1.4!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (24)

Start-Time: 2019-12-27 08:24:41,148

Finished-Time: 2019-12-27 08:24:41,253

Time-Consumption 0.105s

Testsummary:

Info Enqueued 6 tasks (stop request within 4th task).

Success Size of Queue before 1st execution is correct (Content 6 and Type is <class ’int’>).

Success Size of Queue after 1st execution is correct (Content 2 and Type is <class ’int’>).

Success Queue execution (1st part; identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
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Success Size of Queue after 2nd execution is correct (Content 0 and Type is <class ’int’>).

Success Queue execution (2nd part; identified by a submitted sequence number): Values and number

of submitted values is correct. See detailed log for more information.

3.2.8 pylibs.task.threaded queue: Test enqueue while queue is running

Testresult

This test was passed with the state: Success. See also full trace in section B.1.7!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (27)

Start-Time: 2019-12-27 08:24:44,171

Finished-Time: 2019-12-27 08:24:44,776

Time-Consumption 0.605s

Testsummary:

Success Size of Queue before execution is correct (Content 0 and Type is <class ’int’>).

Info Enqueued 2 tasks.

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

3.2.9 pylibs.task.threaded queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success. See also full trace in section B.1.6!

Testrun: python 3.6.9 (final)

Caller: /user data/data/dirk/prj/modules/task/unittest/src/tests/ init .py (26)

Start-Time: 2019-12-27 08:24:41,257

Finished-Time: 2019-12-27 08:24:44,171

Time-Consumption 2.914s

Testsummary:

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).

Info Executing Queue, till Queue is empty..

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Success Queue execution (identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
Info Setting expire flag and enqueued again 2 tasks.

Success Size of Queue before restarting queue is correct (Content 2 and Type is <class ’int’>).

Info Executing Queue, till Queue is empty..

Success Queue execution (rerun; identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
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A Trace for testrun with python 2.7.17 (final)

A.1 Tests with status Info (9)

A.1.1 pylibs.task.delayed: Test parallel processing and timing for a delayed execution

Testresult

This test was passed with the state: Success.

Info Added a delayed task for execution in 0.250s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.

Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<type 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Success Time consumption is correct (Content 0.25037693977355957 in [0.2465 ... 0.2545] and Type is <type

’float’>).

Result (Time consumption): 0.25037693977355957 (<type 'float'>)

Expectation (Time consumption): 0.2465 <= result <= 0.2545

Info Added a delayed task for execution in 0.010s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
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Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<type 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Success Time consumption is correct (Content 0.010622024536132812 in [0.008900000000000002 ... 0.0121] and

Type is <type ’float’>).

Result (Time consumption): 0.010622024536132812 (<type 'float'>)

Expectation (Time consumption): 0.008900000000000002 <= result <= 0.0121

Info Added a delayed task for execution in 0.005s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.

Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<type 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Success Time consumption is correct (Content 0.005093097686767578 in [0.00395 ... 0.00705] and Type is <type

’float’>).

Result (Time consumption): 0.005093097686767578 (<type 'float'>)

Expectation (Time consumption): 0.00395 <= result <= 0.00705
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A.1.2 pylibs.task.periodic: Test periodic execution

Testresult

This test was passed with the state: Success.

Info Running a periodic task for 10 cycles with a cycletime of 0.25s

Task execution number 1 at 1577431260.830670

Task execution number 2 at 1577431261.081857

Task execution number 3 at 1577431261.332465

Task execution number 4 at 1577431261.583169

Task execution number 5 at 1577431261.833508

Task execution number 6 at 1577431262.083997

Task execution number 7 at 1577431262.334639

Task execution number 8 at 1577431262.585828

Task execution number 9 at 1577431262.836671

Task execution number 10 at 1577431263.087061

Success Minimum cycle time is correct (Content 0.2503390312194824 in [0.2465 ... 0.2545] and Type is <type

’float’>).

Result (Minimum cycle time): 0.2503390312194824 (<type 'float'>)

Expectation (Minimum cycle time): 0.2465 <= result <= 0.2545

Success Mean cycle time is correct (Content 0.25071009000142414 in [0.2465 ... 0.2545] and Type is <type

’float’>).

Result (Mean cycle time): 0.25071009000142414 (<type 'float'>)

Expectation (Mean cycle time): 0.2465 <= result <= 0.2545

Success Maximum cycle time is correct (Content 0.2511889934539795 in [0.2465 ... 0.2565] and Type is <type

’float’>).

Result (Maximum cycle time): 0.2511889934539795 (<type 'float'>)

Expectation (Maximum cycle time): 0.2465 <= result <= 0.2565

Info Running a periodic task for 10 cycles with a cycletime of 0.01s
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Task execution number 1 at 1577431263.136190

Task execution number 2 at 1577431263.146672

Task execution number 3 at 1577431263.157228

Task execution number 4 at 1577431263.168363

Task execution number 5 at 1577431263.178933

Task execution number 6 at 1577431263.189998

Task execution number 7 at 1577431263.200579

Task execution number 8 at 1577431263.211154

Task execution number 9 at 1577431263.221770

Task execution number 10 at 1577431263.232837

Success Minimum cycle time is correct (Content 0.010482072830200195 in [0.008900000000000002 ... 0.0121]

and Type is <type ’float’>).

Result (Minimum cycle time): 0.010482072830200195 (<type 'float'>)

Expectation (Minimum cycle time): 0.008900000000000002 <= result <= 0.0121

Success Mean cycle time is correct (Content 0.01073855823940701 in [0.008900000000000002 ... 0.0121] and

Type is <type ’float’>).

Result (Mean cycle time): 0.01073855823940701 (<type 'float'>)

Expectation (Mean cycle time): 0.008900000000000002 <= result <= 0.0121

Success Maximum cycle time is correct (Content 0.011135101318359375 in [0.008900000000000002 ... 0.0141]

and Type is <type ’float’>).

Result (Maximum cycle time): 0.011135101318359375 (<type 'float'>)

Expectation (Maximum cycle time): 0.008900000000000002 <= result <= 0.0141

Info Running a periodic task for 10 cycles with a cycletime of 0.005s

Task execution number 1 at 1577431263.259307

Task execution number 2 at 1577431263.264840

Task execution number 3 at 1577431263.270685

Task execution number 4 at 1577431263.276064

Task execution number 5 at 1577431263.281601

Task execution number 6 at 1577431263.287635

Task execution number 7 at 1577431263.293169

Task execution number 8 at 1577431263.299255

Task execution number 9 at 1577431263.304808

Task execution number 10 at 1577431263.310384

Success Minimum cycle time is correct (Content 0.0053789615631103516 in [0.00395 ... 0.00705] and Type is

<type ’float’>).
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Result (Minimum cycle time): 0.0053789615631103516 (<type 'float'>)

Expectation (Minimum cycle time): 0.00395 <= result <= 0.00705

Success Mean cycle time is correct (Content 0.0056752363840738935 in [0.00395 ... 0.00705] and Type is <type

’float’>).

Result (Mean cycle time): 0.0056752363840738935 (<type 'float'>)

Expectation (Mean cycle time): 0.00395 <= result <= 0.00705

Success Maximum cycle time is correct (Content 0.006085872650146484 in [0.00395 ... 0.009049999999999999]

and Type is <type ’float’>).

Result (Maximum cycle time): 0.006085872650146484 (<type 'float'>)

Expectation (Maximum cycle time): 0.00395 <= result <= 0.009049999999999999

A.1.3 pylibs.task.queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success.

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).

Result (Size of Queue before execution): 6 (<type 'int'>)

Expectation (Size of Queue before execution): result = 6 (<type 'int'>)

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue after execution): 0 (<type 'int'>)

Expectation (Size of Queue after execution): result = 0 (<type 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.
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Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3, 5, 6, 7 ]

(<type 'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2,

3, 5, 6, 7 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Result (Submitted value number 3): 3 (<type 'int'>)

Expectation (Submitted value number 3): result = 3 (<type 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <type 'int'>).

Result (Submitted value number 4): 5 (<type 'int'>)

Expectation (Submitted value number 4): result = 5 (<type 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <type 'int'>).

Result (Submitted value number 5): 6 (<type 'int'>)

Expectation (Submitted value number 5): result = 6 (<type 'int'>)

Submitted value number 5 is correct (Content 6 and Type is <type 'int'>).

Result (Submitted value number 6): 7 (<type 'int'>)

Expectation (Submitted value number 6): result = 7 (<type 'int'>)

Submitted value number 6 is correct (Content 7 and Type is <type 'int'>).

A.1.4 pylibs.task.queue: Test stop method

Testresult

This test was passed with the state: Success.

Info Enqueued 6 tasks (stop request within 4th task).

Success Size of Queue before 1st execution is correct (Content 6 and Type is <type ’int’>).

Result (Size of Queue before 1st execution): 6 (<type 'int'>)

Expectation (Size of Queue before 1st execution): result = 6 (<type 'int'>)

Success Size of Queue after 1st execution is correct (Content 2 and Type is <type ’int’>).

Result (Size of Queue after 1st execution): 2 (<type 'int'>)

Expectation (Size of Queue after 1st execution): result = 2 (<type 'int'>)

Success Queue execution (1st part; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
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Result (Queue execution (1st part; identified by a submitted sequence number)): [ 1, 2, 3, 5

] (<type 'list'>)↪→

Expectation (Queue execution (1st part; identified by a submitted sequence number)): result =

[ 1, 2, 3, 5 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Result (Submitted value number 3): 3 (<type 'int'>)

Expectation (Submitted value number 3): result = 3 (<type 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <type 'int'>).

Result (Submitted value number 4): 5 (<type 'int'>)

Expectation (Submitted value number 4): result = 5 (<type 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <type 'int'>).

Success Size of Queue after 2nd execution is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue after 2nd execution): 0 (<type 'int'>)

Expectation (Size of Queue after 2nd execution): result = 0 (<type 'int'>)

Success Queue execution (2nd part; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

Result (Queue execution (2nd part; identified by a submitted sequence number)): [ 6, 7 ]

(<type 'list'>)↪→

Expectation (Queue execution (2nd part; identified by a submitted sequence number)): result =

[ 6, 7 ] (<type 'list'>)↪→

Result (Submitted value number 1): 6 (<type 'int'>)

Expectation (Submitted value number 1): result = 6 (<type 'int'>)

Submitted value number 1 is correct (Content 6 and Type is <type 'int'>).

Result (Submitted value number 2): 7 (<type 'int'>)

Expectation (Submitted value number 2): result = 7 (<type 'int'>)

Submitted value number 2 is correct (Content 7 and Type is <type 'int'>).

A.1.5 pylibs.task.queue: Test clean queue method

Testresult

This test was passed with the state: Success.

Info Enqueued 6 tasks (stop request within 3rd task).

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).
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Result (Size of Queue before execution): 6 (<type 'int'>)

Expectation (Size of Queue before execution): result = 6 (<type 'int'>)

Success Size of Queue after execution is correct (Content 3 and Type is <type ’int’>).

Result (Size of Queue after execution): 3 (<type 'int'>)

Expectation (Size of Queue after execution): result = 3 (<type 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.

Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3 ] (<type

'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2, 3

] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Result (Submitted value number 3): 3 (<type 'int'>)

Expectation (Submitted value number 3): result = 3 (<type 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <type 'int'>).

Info Cleaning Queue.

Success Size of Queue after cleaning queue is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue after cleaning queue): 0 (<type 'int'>)

Expectation (Size of Queue after cleaning queue): result = 0 (<type 'int'>)

A.1.6 pylibs.task.threaded queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success.

Info Enqueued 6 unordered tasks.

Adding Task 5 with Priority 5

Adding Task 3 with Priority 3

Adding Task 7 with Priority 7

Adding Task 2 with Priority 2

Adding Task 6 with Priority 6

Adding Task 1 with Priority 1

Success Size of Queue before execution is correct (Content 6 and Type is <type ’int’>).
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Result (Size of Queue before execution): 6 (<type 'int'>)

Expectation (Size of Queue before execution): result = 6 (<type 'int'>)

Info Executing Queue, till Queue is empty..

Starting Queue execution (run)

Queue is empty.

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue after execution): 0 (<type 'int'>)

Expectation (Size of Queue after execution): result = 0 (<type 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.

Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3, 5, 6, 7 ]

(<type 'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2,

3, 5, 6, 7 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 2 (<type 'int'>)

Expectation (Submitted value number 2): result = 2 (<type 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <type 'int'>).

Result (Submitted value number 3): 3 (<type 'int'>)

Expectation (Submitted value number 3): result = 3 (<type 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <type 'int'>).

Result (Submitted value number 4): 5 (<type 'int'>)

Expectation (Submitted value number 4): result = 5 (<type 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <type 'int'>).

Result (Submitted value number 5): 6 (<type 'int'>)

Expectation (Submitted value number 5): result = 6 (<type 'int'>)

Submitted value number 5 is correct (Content 6 and Type is <type 'int'>).

Result (Submitted value number 6): 7 (<type 'int'>)

Expectation (Submitted value number 6): result = 7 (<type 'int'>)

Submitted value number 6 is correct (Content 7 and Type is <type 'int'>).

Info Setting expire flag and enqueued again 2 tasks.

Expire executed

Adding Task 6 with Priority 6

Adding Task 1 with Priority 1

Success Size of Queue before restarting queue is correct (Content 2 and Type is <type ’int’>).
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Result (Size of Queue before restarting queue): 2 (<type 'int'>)

Expectation (Size of Queue before restarting queue): result = 2 (<type 'int'>)

Info Executing Queue, till Queue is empty..

Starting Queue execution (run)

Queue joined and stopped.

Success Queue execution (rerun; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

Result (Queue execution (rerun; identified by a submitted sequence number)): [ 1, 6 ] (<type

'list'>)↪→

Expectation (Queue execution (rerun; identified by a submitted sequence number)): result = [

1, 6 ] (<type 'list'>)↪→

Result (Submitted value number 1): 1 (<type 'int'>)

Expectation (Submitted value number 1): result = 1 (<type 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 2): 6 (<type 'int'>)

Expectation (Submitted value number 2): result = 6 (<type 'int'>)

Submitted value number 2 is correct (Content 6 and Type is <type 'int'>).

A.1.7 pylibs.task.threaded queue: Test enqueue while queue is running

Testresult

This test was passed with the state: Success.

Success Size of Queue before execution is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue before execution): 0 (<type 'int'>)

Expectation (Size of Queue before execution): result = 0 (<type 'int'>)

Info Enqueued 2 tasks.

Starting Queue execution (run)

Adding Task 6 with Priority 6 and waiting for 0.1s (half of the queue task delay time)

Adding Task 3 with Priority 3

Adding Task 2 with Priority 2

Adding Task 1 with Priority 1

Success Size of Queue after execution is correct (Content 0 and Type is <type ’int’>).

Result (Size of Queue after execution): 0 (<type 'int'>)

Expectation (Size of Queue after execution): result = 0 (<type 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.
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Result (Queue execution (identified by a submitted sequence number)): [ 6, 1, 2, 3 ] (<type

'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 6, 1,

2, 3 ] (<type 'list'>)↪→

Result (Submitted value number 1): 6 (<type 'int'>)

Expectation (Submitted value number 1): result = 6 (<type 'int'>)

Submitted value number 1 is correct (Content 6 and Type is <type 'int'>).

Result (Submitted value number 2): 1 (<type 'int'>)

Expectation (Submitted value number 2): result = 1 (<type 'int'>)

Submitted value number 2 is correct (Content 1 and Type is <type 'int'>).

Result (Submitted value number 3): 2 (<type 'int'>)

Expectation (Submitted value number 3): result = 2 (<type 'int'>)

Submitted value number 3 is correct (Content 2 and Type is <type 'int'>).

Result (Submitted value number 4): 3 (<type 'int'>)

Expectation (Submitted value number 4): result = 3 (<type 'int'>)

Submitted value number 4 is correct (Content 3 and Type is <type 'int'>).

A.1.8 pylibs.task.crontab: Test cronjob

Testresult

This test was passed with the state: Success.

Info Initialising cronjob with minute: [23, 45]; hour: [12, 17]; day: 25; month: any; day of week: any.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content True and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): True

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = True (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content True and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): True

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = True (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).
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Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3):

result = False (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Info Storing reminder for execution (minute: 23, hour: 17, day: 25, month: 2, day of week: 1).

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content True and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): True

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = True (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).
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Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3):

result = False (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Info Resetting trigger condition with minute: 22; hour: any; day: [12, 17, 25], month: 2.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = False (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content True and

Type is <type ’bool’>).
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Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): True

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = True (<type 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 05, day of week: 3 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 05, day_of_week: 3): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 05, day_of_week: 3):

result = False (<type 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <type ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<type 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<type 'bool'>)↪→

Info Resetting trigger condition (again).

Success 1st run - execution not needed is correct (Content False and Type is <type ’bool’>).

Result (1st run - execution not needed): False (<type 'bool'>)

Expectation (1st run - execution not needed): result = False (<type 'bool'>)

Success 2nd run - execution not needed is correct (Content False and Type is <type ’bool’>).

Result (2nd run - execution not needed): False (<type 'bool'>)

Expectation (2nd run - execution not needed): result = False (<type 'bool'>)

Success 3rd run - execution needed is correct (Content True and Type is <type ’bool’>).

Result (3rd run - execution needed): True (<type 'bool'>)

Expectation (3rd run - execution needed): result = True (<type 'bool'>)

Success 4th run - execution needed is correct (Content True and Type is <type ’bool’>).
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Result (4th run - execution needed): True (<type 'bool'>)

Expectation (4th run - execution needed): result = True (<type 'bool'>)

Success 5th run - execution not needed is correct (Content False and Type is <type ’bool’>).

Result (5th run - execution not needed): False (<type 'bool'>)

Expectation (5th run - execution not needed): result = False (<type 'bool'>)

Success 6th run - execution not needed is correct (Content False and Type is <type ’bool’>).

Result (6th run - execution not needed): False (<type 'bool'>)

Expectation (6th run - execution not needed): result = False (<type 'bool'>)

A.1.9 pylibs.task.crontab: Test crontab

Testresult

This test was passed with the state: Success.

Info Creating Crontab with callback execution in +1 and +3 minutes.

Success Number of submitted values is correct (Content 2 and Type is <type ’int’>).

Crontab accuracy is 30s

Crontab execution number 1 at 1577431327s, requested for 1577431320s

Crontab execution number 2 at 1577431447s, requested for 1577431440s

Result (Timing of crontasks): [ 1577431327, 1577431447 ] (<type 'list'>)

Result (Number of submitted values): 2 (<type 'int'>)

Expectation (Number of submitted values): result = 2 (<type 'int'>)

Success Timing of crontasks: Valueaccuracy and number of submitted values is correct. See detailed log for more

information.

Result (Submitted value number 1): 1577431327 (<type 'int'>)

Expectation (Submitted value number 1): 1577431320 <= result <= 1577431351

Submitted value number 1 is correct (Content 1577431327 in [1577431320 ... 1577431351] and

Type is <type 'int'>).↪→

Result (Submitted value number 2): 1577431447 (<type 'int'>)

Expectation (Submitted value number 2): 1577431440 <= result <= 1577431471

Submitted value number 2 is correct (Content 1577431447 in [1577431440 ... 1577431471] and

Type is <type 'int'>).↪→
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B Trace for testrun with python 3.6.9 (final)

B.1 Tests with status Info (9)

B.1.1 pylibs.task.delayed: Test parallel processing and timing for a delayed execution

Testresult

This test was passed with the state: Success.

Info Added a delayed task for execution in 0.250s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.

Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<class 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Success Time consumption is correct (Content 0.25007009506225586 in [0.2465 ... 0.2545] and Type is <class

’float’>).

Result (Time consumption): 0.25007009506225586 (<class 'float'>)

Expectation (Time consumption): 0.2465 <= result <= 0.2545

Info Added a delayed task for execution in 0.010s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.
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Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<class 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Success Time consumption is correct (Content 0.010076522827148438 in [0.008900000000000002 ... 0.0121] and

Type is <class ’float’>).

Result (Time consumption): 0.010076522827148438 (<class 'float'>)

Expectation (Time consumption): 0.008900000000000002 <= result <= 0.0121

Info Added a delayed task for execution in 0.005s.

Success Execution of task and delayed task (identified by a submitted sequence number): Values and number of

submitted values is correct. See detailed log for more information.

Result (Execution of task and delayed task (identified by a submitted sequence number)): [ 1,

2 ] (<class 'list'>)↪→

Expectation (Execution of task and delayed task (identified by a submitted sequence number)):

result = [ 1, 2 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Success Time consumption is correct (Content 0.00506138801574707 in [0.00395 ... 0.00705] and Type is <class

’float’>).

Result (Time consumption): 0.00506138801574707 (<class 'float'>)

Expectation (Time consumption): 0.00395 <= result <= 0.00705
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B.1.2 pylibs.task.periodic: Test periodic execution

Testresult

This test was passed with the state: Success.

Info Running a periodic task for 10 cycles with a cycletime of 0.25s

Task execution number 1 at 1577431478.501697

Task execution number 2 at 1577431478.752308

Task execution number 3 at 1577431479.002476

Task execution number 4 at 1577431479.252823

Task execution number 5 at 1577431479.503223

Task execution number 6 at 1577431479.753506

Task execution number 7 at 1577431480.004085

Task execution number 8 at 1577431480.254681

Task execution number 9 at 1577431480.505192

Task execution number 10 at 1577431480.755834

Success Minimum cycle time is correct (Content 0.2501676082611084 in [0.2465 ... 0.2545] and Type is <class

’float’>).

Result (Minimum cycle time): 0.2501676082611084 (<class 'float'>)

Expectation (Minimum cycle time): 0.2465 <= result <= 0.2545

Success Mean cycle time is correct (Content 0.2504596445295546 in [0.2465 ... 0.2545] and Type is <class

’float’>).

Result (Mean cycle time): 0.2504596445295546 (<class 'float'>)

Expectation (Mean cycle time): 0.2465 <= result <= 0.2545

Success Maximum cycle time is correct (Content 0.2506415843963623 in [0.2465 ... 0.2565] and Type is <class

’float’>).

Result (Maximum cycle time): 0.2506415843963623 (<class 'float'>)

Expectation (Maximum cycle time): 0.2465 <= result <= 0.2565

Info Running a periodic task for 10 cycles with a cycletime of 0.01s
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Task execution number 1 at 1577431480.807815

Task execution number 2 at 1577431480.818227

Task execution number 3 at 1577431480.828409

Task execution number 4 at 1577431480.838654

Task execution number 5 at 1577431480.849118

Task execution number 6 at 1577431480.859474

Task execution number 7 at 1577431480.870033

Task execution number 8 at 1577431480.880509

Task execution number 9 at 1577431480.891075

Task execution number 10 at 1577431480.901641

Success Minimum cycle time is correct (Content 0.01018214225769043 in [0.008900000000000002 ... 0.0121]

and Type is <class ’float’>).

Result (Minimum cycle time): 0.01018214225769043 (<class 'float'>)

Expectation (Minimum cycle time): 0.008900000000000002 <= result <= 0.0121

Success Mean cycle time is correct (Content 0.010425064298841689 in [0.008900000000000002 ... 0.0121] and

Type is <class ’float’>).

Result (Mean cycle time): 0.010425064298841689 (<class 'float'>)

Expectation (Mean cycle time): 0.008900000000000002 <= result <= 0.0121

Success Maximum cycle time is correct (Content 0.010566234588623047 in [0.008900000000000002 ... 0.0141]

and Type is <class ’float’>).

Result (Maximum cycle time): 0.010566234588623047 (<class 'float'>)

Expectation (Maximum cycle time): 0.008900000000000002 <= result <= 0.0141

Info Running a periodic task for 10 cycles with a cycletime of 0.005s

Task execution number 1 at 1577431480.930800

Task execution number 2 at 1577431480.936359

Task execution number 3 at 1577431480.941607

Task execution number 4 at 1577431480.946866

Task execution number 5 at 1577431480.952171

Task execution number 6 at 1577431480.957479

Task execution number 7 at 1577431480.962825

Task execution number 8 at 1577431480.968287

Task execution number 9 at 1577431480.973785

Task execution number 10 at 1577431480.979250

Success Minimum cycle time is correct (Content 0.005247592926025391 in [0.00395 ... 0.00705] and Type is

<class ’float’>).
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Result (Minimum cycle time): 0.005247592926025391 (<class 'float'>)

Expectation (Minimum cycle time): 0.00395 <= result <= 0.00705

Success Mean cycle time is correct (Content 0.00538325309753418 in [0.00395 ... 0.00705] and Type is <class

’float’>).

Result (Mean cycle time): 0.00538325309753418 (<class 'float'>)

Expectation (Mean cycle time): 0.00395 <= result <= 0.00705

Success Maximum cycle time is correct (Content 0.005558967590332031 in [0.00395 ... 0.009049999999999999]

and Type is <class ’float’>).

Result (Maximum cycle time): 0.005558967590332031 (<class 'float'>)

Expectation (Maximum cycle time): 0.00395 <= result <= 0.009049999999999999

B.1.3 pylibs.task.queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success.

Info Enqueued 6 unordered tasks.

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).

Result (Size of Queue before execution): 6 (<class 'int'>)

Expectation (Size of Queue before execution): result = 6 (<class 'int'>)

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue after execution): 0 (<class 'int'>)

Expectation (Size of Queue after execution): result = 0 (<class 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.
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Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3, 5, 6, 7 ]

(<class 'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2,

3, 5, 6, 7 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Result (Submitted value number 3): 3 (<class 'int'>)

Expectation (Submitted value number 3): result = 3 (<class 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <class 'int'>).

Result (Submitted value number 4): 5 (<class 'int'>)

Expectation (Submitted value number 4): result = 5 (<class 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <class 'int'>).

Result (Submitted value number 5): 6 (<class 'int'>)

Expectation (Submitted value number 5): result = 6 (<class 'int'>)

Submitted value number 5 is correct (Content 6 and Type is <class 'int'>).

Result (Submitted value number 6): 7 (<class 'int'>)

Expectation (Submitted value number 6): result = 7 (<class 'int'>)

Submitted value number 6 is correct (Content 7 and Type is <class 'int'>).

B.1.4 pylibs.task.queue: Test stop method

Testresult

This test was passed with the state: Success.

Info Enqueued 6 tasks (stop request within 4th task).

Success Size of Queue before 1st execution is correct (Content 6 and Type is <class ’int’>).

Result (Size of Queue before 1st execution): 6 (<class 'int'>)

Expectation (Size of Queue before 1st execution): result = 6 (<class 'int'>)

Success Size of Queue after 1st execution is correct (Content 2 and Type is <class ’int’>).

Result (Size of Queue after 1st execution): 2 (<class 'int'>)

Expectation (Size of Queue after 1st execution): result = 2 (<class 'int'>)

Success Queue execution (1st part; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.
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Result (Queue execution (1st part; identified by a submitted sequence number)): [ 1, 2, 3, 5

] (<class 'list'>)↪→

Expectation (Queue execution (1st part; identified by a submitted sequence number)): result =

[ 1, 2, 3, 5 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Result (Submitted value number 3): 3 (<class 'int'>)

Expectation (Submitted value number 3): result = 3 (<class 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <class 'int'>).

Result (Submitted value number 4): 5 (<class 'int'>)

Expectation (Submitted value number 4): result = 5 (<class 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <class 'int'>).

Success Size of Queue after 2nd execution is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue after 2nd execution): 0 (<class 'int'>)

Expectation (Size of Queue after 2nd execution): result = 0 (<class 'int'>)

Success Queue execution (2nd part; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

Result (Queue execution (2nd part; identified by a submitted sequence number)): [ 6, 7 ]

(<class 'list'>)↪→

Expectation (Queue execution (2nd part; identified by a submitted sequence number)): result =

[ 6, 7 ] (<class 'list'>)↪→

Result (Submitted value number 1): 6 (<class 'int'>)

Expectation (Submitted value number 1): result = 6 (<class 'int'>)

Submitted value number 1 is correct (Content 6 and Type is <class 'int'>).

Result (Submitted value number 2): 7 (<class 'int'>)

Expectation (Submitted value number 2): result = 7 (<class 'int'>)

Submitted value number 2 is correct (Content 7 and Type is <class 'int'>).

B.1.5 pylibs.task.queue: Test clean queue method

Testresult

This test was passed with the state: Success.

Info Enqueued 6 tasks (stop request within 3rd task).

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).
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Result (Size of Queue before execution): 6 (<class 'int'>)

Expectation (Size of Queue before execution): result = 6 (<class 'int'>)

Success Size of Queue after execution is correct (Content 3 and Type is <class ’int’>).

Result (Size of Queue after execution): 3 (<class 'int'>)

Expectation (Size of Queue after execution): result = 3 (<class 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.

Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3 ] (<class

'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2, 3

] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Result (Submitted value number 3): 3 (<class 'int'>)

Expectation (Submitted value number 3): result = 3 (<class 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <class 'int'>).

Info Cleaning Queue.

Success Size of Queue after cleaning queue is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue after cleaning queue): 0 (<class 'int'>)

Expectation (Size of Queue after cleaning queue): result = 0 (<class 'int'>)

B.1.6 pylibs.task.threaded queue: Test qsize and queue execution order by priority

Testresult

This test was passed with the state: Success.

Info Enqueued 6 unordered tasks.

Adding Task 5 with Priority 5

Adding Task 3 with Priority 3

Adding Task 7 with Priority 7

Adding Task 2 with Priority 2

Adding Task 6 with Priority 6

Adding Task 1 with Priority 1

Success Size of Queue before execution is correct (Content 6 and Type is <class ’int’>).
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Result (Size of Queue before execution): 6 (<class 'int'>)

Expectation (Size of Queue before execution): result = 6 (<class 'int'>)

Info Executing Queue, till Queue is empty..

Starting Queue execution (run)

Queue is empty.

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue after execution): 0 (<class 'int'>)

Expectation (Size of Queue after execution): result = 0 (<class 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.

Result (Queue execution (identified by a submitted sequence number)): [ 1, 2, 3, 5, 6, 7 ]

(<class 'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 1, 2,

3, 5, 6, 7 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 2 (<class 'int'>)

Expectation (Submitted value number 2): result = 2 (<class 'int'>)

Submitted value number 2 is correct (Content 2 and Type is <class 'int'>).

Result (Submitted value number 3): 3 (<class 'int'>)

Expectation (Submitted value number 3): result = 3 (<class 'int'>)

Submitted value number 3 is correct (Content 3 and Type is <class 'int'>).

Result (Submitted value number 4): 5 (<class 'int'>)

Expectation (Submitted value number 4): result = 5 (<class 'int'>)

Submitted value number 4 is correct (Content 5 and Type is <class 'int'>).

Result (Submitted value number 5): 6 (<class 'int'>)

Expectation (Submitted value number 5): result = 6 (<class 'int'>)

Submitted value number 5 is correct (Content 6 and Type is <class 'int'>).

Result (Submitted value number 6): 7 (<class 'int'>)

Expectation (Submitted value number 6): result = 7 (<class 'int'>)

Submitted value number 6 is correct (Content 7 and Type is <class 'int'>).

Info Setting expire flag and enqueued again 2 tasks.

Expire executed

Adding Task 6 with Priority 6

Adding Task 1 with Priority 1

Success Size of Queue before restarting queue is correct (Content 2 and Type is <class ’int’>).
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Result (Size of Queue before restarting queue): 2 (<class 'int'>)

Expectation (Size of Queue before restarting queue): result = 2 (<class 'int'>)

Info Executing Queue, till Queue is empty..

Starting Queue execution (run)

Queue joined and stopped.

Success Queue execution (rerun; identified by a submitted sequence number): Values and number of submitted

values is correct. See detailed log for more information.

Result (Queue execution (rerun; identified by a submitted sequence number)): [ 1, 6 ] (<class

'list'>)↪→

Expectation (Queue execution (rerun; identified by a submitted sequence number)): result = [

1, 6 ] (<class 'list'>)↪→

Result (Submitted value number 1): 1 (<class 'int'>)

Expectation (Submitted value number 1): result = 1 (<class 'int'>)

Submitted value number 1 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 2): 6 (<class 'int'>)

Expectation (Submitted value number 2): result = 6 (<class 'int'>)

Submitted value number 2 is correct (Content 6 and Type is <class 'int'>).

B.1.7 pylibs.task.threaded queue: Test enqueue while queue is running

Testresult

This test was passed with the state: Success.

Success Size of Queue before execution is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue before execution): 0 (<class 'int'>)

Expectation (Size of Queue before execution): result = 0 (<class 'int'>)

Info Enqueued 2 tasks.

Starting Queue execution (run)

Adding Task 6 with Priority 6 and waiting for 0.1s (half of the queue task delay time)

Adding Task 3 with Priority 3

Adding Task 2 with Priority 2

Adding Task 1 with Priority 1

Success Size of Queue after execution is correct (Content 0 and Type is <class ’int’>).

Result (Size of Queue after execution): 0 (<class 'int'>)

Expectation (Size of Queue after execution): result = 0 (<class 'int'>)

Success Queue execution (identified by a submitted sequence number): Values and number of submitted values

is correct. See detailed log for more information.
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Result (Queue execution (identified by a submitted sequence number)): [ 6, 1, 2, 3 ] (<class

'list'>)↪→

Expectation (Queue execution (identified by a submitted sequence number)): result = [ 6, 1,

2, 3 ] (<class 'list'>)↪→

Result (Submitted value number 1): 6 (<class 'int'>)

Expectation (Submitted value number 1): result = 6 (<class 'int'>)

Submitted value number 1 is correct (Content 6 and Type is <class 'int'>).

Result (Submitted value number 2): 1 (<class 'int'>)

Expectation (Submitted value number 2): result = 1 (<class 'int'>)

Submitted value number 2 is correct (Content 1 and Type is <class 'int'>).

Result (Submitted value number 3): 2 (<class 'int'>)

Expectation (Submitted value number 3): result = 2 (<class 'int'>)

Submitted value number 3 is correct (Content 2 and Type is <class 'int'>).

Result (Submitted value number 4): 3 (<class 'int'>)

Expectation (Submitted value number 4): result = 3 (<class 'int'>)

Submitted value number 4 is correct (Content 3 and Type is <class 'int'>).

B.1.8 pylibs.task.crontab: Test cronjob

Testresult

This test was passed with the state: Success.

Info Initialising cronjob with minute: [23, 45]; hour: [12, 17]; day: 25; month: any; day of week: any.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content True and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): True

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = True (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content True and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): True

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = True (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).
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Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3):

result = False (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Info Storing reminder for execution (minute: 23, hour: 17, day: 25, month: 2, day of week: 1).

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content True and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): True

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = True (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).
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Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 3 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 3):

result = False (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Info Resetting trigger condition with minute: 22; hour: any; day: [12, 17, 25], month: 2.

Success Return value for minute: 23; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 12; day: 25; month: 03, day of week: 5 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 12; day: 25; month: 03, day_of_week: 5):

result = False (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 02, day of week: 1 is correct (Content True and

Type is <class ’bool’>).

42 / 52



Unittest for task

Result (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1): True

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 02, day_of_week: 1):

result = True (<class 'bool'>)↪→

Success Return value for minute: 22; hour: 17; day: 25; month: 05, day of week: 3 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 22; hour: 17; day: 25; month: 05, day_of_week: 3): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 22; hour: 17; day: 25; month: 05, day_of_week: 3):

result = False (<class 'bool'>)↪→

Success Return value for minute: 45; hour: 14; day: 25; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 45; hour: 14; day: 25; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Success Return value for minute: 23; hour: 17; day: 24; month: 02, day of week: 1 is correct (Content False and

Type is <class ’bool’>).

Result (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1): False

(<class 'bool'>)↪→

Expectation (Return value for minute: 23; hour: 17; day: 24; month: 02, day_of_week: 1):

result = False (<class 'bool'>)↪→

Info Resetting trigger condition (again).

Success 1st run - execution not needed is correct (Content False and Type is <class ’bool’>).

Result (1st run - execution not needed): False (<class 'bool'>)

Expectation (1st run - execution not needed): result = False (<class 'bool'>)

Success 2nd run - execution not needed is correct (Content False and Type is <class ’bool’>).

Result (2nd run - execution not needed): False (<class 'bool'>)

Expectation (2nd run - execution not needed): result = False (<class 'bool'>)

Success 3rd run - execution needed is correct (Content True and Type is <class ’bool’>).

Result (3rd run - execution needed): True (<class 'bool'>)

Expectation (3rd run - execution needed): result = True (<class 'bool'>)

Success 4th run - execution needed is correct (Content True and Type is <class ’bool’>).
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Result (4th run - execution needed): True (<class 'bool'>)

Expectation (4th run - execution needed): result = True (<class 'bool'>)

Success 5th run - execution not needed is correct (Content False and Type is <class ’bool’>).

Result (5th run - execution not needed): False (<class 'bool'>)

Expectation (5th run - execution not needed): result = False (<class 'bool'>)

Success 6th run - execution not needed is correct (Content False and Type is <class ’bool’>).

Result (6th run - execution not needed): False (<class 'bool'>)

Expectation (6th run - execution not needed): result = False (<class 'bool'>)

B.1.9 pylibs.task.crontab: Test crontab

Testresult

This test was passed with the state: Success.

Info Creating Crontab with callback execution in +1 and +3 minutes.

Success Number of submitted values is correct (Content 2 and Type is <class ’int’>).

Crontab accuracy is 30s

Crontab execution number 1 at 1577431515s, requested for 1577431500s

Crontab execution number 2 at 1577431635s, requested for 1577431620s

Result (Timing of crontasks): [ 1577431515, 1577431635 ] (<class 'list'>)

Result (Number of submitted values): 2 (<class 'int'>)

Expectation (Number of submitted values): result = 2 (<class 'int'>)

Success Timing of crontasks: Valueaccuracy and number of submitted values is correct. See detailed log for more

information.

Result (Submitted value number 1): 1577431515 (<class 'int'>)

Expectation (Submitted value number 1): 1577431500 <= result <= 1577431531

Submitted value number 1 is correct (Content 1577431515 in [1577431500 ... 1577431531] and

Type is <class 'int'>).↪→

Result (Submitted value number 2): 1577431635 (<class 'int'>)

Expectation (Submitted value number 2): 1577431620 <= result <= 1577431651

Submitted value number 2 is correct (Content 1577431635 in [1577431620 ... 1577431651] and

Type is <class 'int'>).↪→

C Test-Coverage

C.1 task

The line coverage for task was 98.9%

The branch coverage for task was 98.0%
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C.1.1 task. init .py

The line coverage for task. init .py was 98.9%

The branch coverage for task. init .py was 98.0%

1 #!/ u s r / b i n / env python

2 # −*− cod ing : UTF−8 −*−
3

4 ”””

5 t a s k ( Task Module )

6 ==================

7

8 **Author :**

9

10 * Dirk A l d e r s <sudo−dirk@mount−mockery . de>

11

12 ** De s c r i p t i o n :**

13

14 This Module s uppo r t s h e l p f u l l c l a s s e s f o r queues , t a sk s , . . .

15

16 **Submodules :**

17

18 * : c l a s s : ` t a s k . c rontab `

19 * : c l a s s : ` t a s k . de layed `

20 * : c l a s s : ` t a s k . p e r i o d i c `

21 * : c l a s s : ` t a s k . queue `

22 * : c l a s s : ` t a s k . th readed queue `

23

24 ** Un i t t e s t :**

25

26 See a l s o the : download : ` u n i t t e s t < . . / . . / t a s k / t e s t r e s u l t s / u n i t t e s t . pdf>` documentat ion .

27 ”””

28 DEPENDENCIES = [ ]

29

30 impor t l o g g i n g

31 impor t s y s

32 impor t t h r e a d i n g

33 impor t t ime

34 i f s y s . v e r s i o n i n f o >= (3 , 0) :

35 from queue impor t P r i o r i t yQueu e

36 from queue impor t Empty

37 e l s e :

38 from Queue impor t P r i o r i t yQueu e

39 from Queue impor t Empty

40

41 l ogge r name = 'TASK '

42 l o g g e r = l o g g i n g . ge tLogge r ( l ogge r name )

43

44 DESCRIPTION = ”””The Module {\\ t t %s } i s d e s i gn ed to he l p w i th t a s k i s s u e s l i k e p e r i o d i c

ta sk s , d e l a y ed ta sk s , queues , th r eaded queues and c r on t ab s .

45 For more I n f o rma t i o n read the documentat ion . ””” % name . r e p l a c e ( ' ' , '\ ' )

46 ”””The Module D e s c r i p t i o n ”””

47 INTERPRETER = (2 , 3)

48 ”””The Tested I n t e r p r e t e r −Ve r s i o n s ”””

49

50

51 c l a s s queue ( o b j e c t ) :
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52 ””” C l a s s to e x e cu t e queued methods .

53

54 : param boo l e x p i r e : The d e f a u l t v a l u e f o r e x p i r e . See a l s o : py : func : ` e xp i r e ` .

55

56 **Example :**

57

58 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s /queue . py

59

60 Wi l l r e s u l t to the f o l l o w i n g output :

61

62 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s /queue . l o g

63 ”””

64 c l a s s j ob ( o b j e c t ) :

65 de f i n i t ( s e l f , p r i o r i t y , c a l l b a c k , * args , ** kwargs ) :

66 s e l f . p r i o r i t y = p r i o r i t y

67 s e l f . c a l l b a c k = c a l l b a c k

68 s e l f . a r g s = a rg s

69 s e l f . kwargs = kwargs

70

71 de f run ( s e l f , queue ) :

72 s e l f . c a l l b a c k ( queue , * s e l f . a rgs , ** s e l f . kwargs )

73

74 de f l t ( s e l f , o t h e r ) :

75 r e t u r n s e l f . p r i o r i t y < o th e r . p r i o r i t y

76

77 de f i n i t ( s e l f , e x p i r e=True ) :

78 s e l f . e x p i r e = e x p i r e

79 s e l f . s t o p = Fa l s e

80 s e l f . queue = Pr i o r i t yQueu e ( )

81

82 de f c l e an queue ( s e l f ) :

83 ”””

84 This Methods removes a l l j o b s from the queue .

85

86 . . note : : Be aware tha t a l r e a d y runnung j o b s w i l l not be t e rm ina t ed .

87 ”””

88 wh i l e not s e l f . queue . empty ( ) :

89 t r y :

90 s e l f . queue . ge t ( F a l s e )

91 excep t Empty : # This b l o ck i s hard to r each f o r a t e s t c a s e , but i s

92 con t i nu e # needed , i f the th r ead runs dry wh i l e c l e a n i n g the queue .

93 s e l f . queue . t a s k done ( )

94

95 de f enqueue ( s e l f , p r i o r i t y , method , * args , ** kwargs ) :

96 ”””

97 This enqueues a g i v en c a l l b a c k .

98

99 : param number p r i o r i t y : The p r i o r i t y i n d i c a t i o n number o f t h i s t a s k . The l owe s t v a l u e

w i l l be queued f i r s t .

100 : param method method : Method to be execu ted

101 : param a rg s a r g s : Arguments to be g i v en to method

102 : param kwargs kwargs : Kewordsarguments to be g i v en to method

103

104 . . note : : C a l l e d method w i l l ge t t h i s i n s t a n c e as f i r s t argument , f o l l ow e d by : py : data : `

args ` und : py : data : ` kwargs ` .

105 ”””

106 s e l f . queue . put ( s e l f . j ob ( p r i o r i t y , method , * args , ** kwargs ) )

107

108 de f q s i z e ( s e l f ) :

109 r e t u r n s e l f . queue . q s i z e ( )

110

111 de f run ( s e l f ) :
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112 ”””

113 This s t a r t s the e x e c u t i o n o f the queued methods .

114 ”””

115 s e l f . s t o p = Fa l s e

116 wh i l e not s e l f . s t o p :

117 t r y :

118 s e l f . queue . ge t ( t imeout =0.1) . run ( s e l f )

119 excep t Empty :

120 i f s e l f . e x p i r e :

121 break

122 i f t ype ( s e l f ) i s t h r eaded queue :

123 s e l f . t h r e ad = None

124

125 de f e x p i r e ( s e l f ) :

126 ”””

127 This s e t s the e x p i r e f l a g . That means tha t the p r o c e s s w i l l s t op a f t e r queue g e t s empty .

128 ”””

129 s e l f . e x p i r e = True

130

131 de f s top ( s e l f ) :

132 ”””

133 This s e t s the s top f l a g . That means tha t the p r o c e s s w i l l s t op a f t e r f i n i s h i n g the a c t i v e

t a s k .

134 ”””

135 s e l f . s t o p = True

136

137

138 c l a s s th r eaded queue ( queue ) :

139 ””” C l a s s to e x e cu t e queued methods i n a background th r ead ( See a l s o pa r en t : py : c l a s s : ` queue `)

.

140

141 : param boo l e x p i r e : The d e f a u l t v a l u e f o r e x p i r e . See a l s o : py : func : ` queue . e x p i r e ` .

142

143 **Example :**

144

145 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / th r eaded queue . py

146

147 Wi l l r e s u l t to the f o l l o w i n g output :

148

149 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / th r eaded queue . l o g

150 ”””

151 de f i n i t ( s e l f , e x p i r e=Fa l s e ) :

152 queue . i n i t ( s e l f , e x p i r e=e x p i r e )

153 s e l f . t h r e ad = None

154

155 de f run ( s e l f ) :

156 i f s e l f . t h r e ad i s None :

157 s e l f . t h r e ad = th r e a d i n g . Thread ( t a r g e t=s e l f . s t a r t , a r g s =() )

158 s e l f . t h r e ad . daemon = True # Daemonize th r ead

159 s e l f . t h r e ad . s t a r t ( ) # S t a r t the e x e c u t i o n

160

161 de f j o i n ( s e l f ) :

162 ”””

163 This b l o c k s t i l l the queue i s empty .

164

165 . . note : : I f the queue does not run dry , j o i n w i l l b l o ck t i l l the end o f the days .

166 ”””

167 s e l f . e x p i r e ( )

168 i f s e l f . t h r e ad i s not None :

169 s e l f . t h r e ad . j o i n ( )

170
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171 de f s top ( s e l f ) :

172 queue . s top ( s e l f )

173 s e l f . j o i n ( )

174

175 de f s t a r t ( s e l f ) :

176 queue . run ( s e l f )

177

178

179 c l a s s p e r i o d i c ( o b j e c t ) :

180 ”””

181 : param f l o a t c y c l e t im e : Cyc l e t ime i n seconds −− method w i l l be execu t ed e v e r y * c y c l e t im e *

s econds

182 : param method method : Method to be execu ted

183 : param a rg s a r g s : Arguments to be g i v en to method

184 : param kwargs kwargs : Kewordsarguments to be g i v en to method

185

186 C l a s s to e x e cu t e a method c y c l i c l y .

187

188 . . note : : C a l l e d method w i l l ge t t h i s i n s t a n c e as f i r s t argument , f o l l ow e d by : py : data : ` args `

und : py : data : ` kwargs ` .

189

190 **Example :**

191

192 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / p e r i o d i c . py

193

194 Wi l l r e s u l t to the f o l l o w i n g output :

195

196 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / p e r i o d i c . l o g

197 ”””

198 de f i n i t ( s e l f , c y c l e t ime , method , * args , ** kwargs ) :

199 s e l f . l o c k = th r e a d i n g . Lock ( )

200 s e l f . t im e r = None

201 s e l f . method = method

202 s e l f . c y c l e t im e = c y c l e t im e

203 s e l f . a r g s = a rg s

204 s e l f . kwargs = kwargs

205 s e l f . s t opped = True

206 s e l f . l a s t tm = None

207 s e l f . dt = None

208

209 de f j o i n ( s e l f , t imeout =0.1) :

210 ”””

211 This b l o c k s t i l l the c y c l i c t a s k i s t e rm ina t ed .

212

213 : param f l o a t t imeout : Cyc l e t ime f o r check i ng i f t a s k i s s topped

214

215 . . note : : Us ing j o i n means tha t somewhere has to be a c o n d i t i o n c a l l i n g : py : func : ` stop `

to t e rm i n a t e .

216 ”””

217 wh i l e not s e l f . s t opped :

218 t ime . s l e e p ( t imeout )

219

220 de f run ( s e l f ) :

221 ”””

222 This s t a r t s the c y c l i c e x e c u t i o n o f the g i v en method .

223 ”””

224 i f s e l f . s t opped :

225 s e l f . s e t t i m e r ( f o r c e now=True )

226

227 de f s top ( s e l f ) :

228 ”””

229 This s t op s the e x e c u t i o n o f any f o l l o w i n g t a s k .

230 ”””
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231 s e l f . l o c k . a c q u i r e ( )

232 s e l f . s t opped = True

233 i f s e l f . t im e r i s not None :

234 s e l f . t im e r . c a n c e l ( )

235 s e l f . l o c k . r e l e a s e ( )

236

237 de f s e t t i m e r ( s e l f , f o r c e now=Fa l s e ) :

238 ”””

239 This s e t s the t ime r f o r the e x e c u t i o n o f the next t a s k .

240 ”””

241 s e l f . l o c k . a c q u i r e ( )

242 s e l f . s t opped = Fa l s e

243 i f f o r c e now :

244 s e l f . t im e r = th r e a d i n g . Timer (0 , s e l f . s t a r t )

245 e l s e :

246 s e l f . t im e r = th r e a d i n g . Timer ( s e l f . c y c l e t ime , s e l f . s t a r t )

247 s e l f . t im e r . s t a r t ( )

248 s e l f . l o c k . r e l e a s e ( )

249

250 de f s t a r t ( s e l f ) :

251 tm = time . t ime ( )

252 i f s e l f . l a s t tm i s not None :

253 s e l f . dt = tm − s e l f . l a s t tm

254 s e l f . s e t t i m e r ( f o r c e now=Fa l s e )

255 s e l f . method ( s e l f , * s e l f . a rgs , ** s e l f . kwargs )

256 s e l f . l a s t tm = tm

257

258

259 c l a s s d e l a y ed ( p e r i o d i c ) :

260 ””” C l a s s to e x e cu t e a method a g i v en t ime i n the f u t u r e . See a l s o pa r en t : py : c l a s s : ` p e r i o d i c

` .

261

262 : param f l o a t t ime : Delay t ime f o r e x e c u t i o n o f the g i v en method

263 : param method method : Method to be execu ted

264 : param a rg s a r g s : Arguments to be g i v en to method

265 : param kwargs kwargs : Kewordsarguments to be g i v en to method

266

267 **Example :**

268

269 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / de l a y ed . py

270

271 Wi l l r e s u l t to the f o l l o w i n g output :

272

273 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / de l a y ed . l o g

274 ”””

275 de f run ( s e l f ) :

276 ”””

277 This s t a r t s the t ime r f o r the de l a y ed e x e c u t i o n .

278 ”””

279 s e l f . s e t t i m e r ( f o r c e now=Fa l s e )

280

281 de f s t a r t ( s e l f ) :

282 s e l f . method (* s e l f . a rgs , ** s e l f . kwargs )

283 s e l f . s t op ( )

284

285

286 c l a s s c ron tab ( p e r i o d i c ) :
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287 ””” C l a s s to e x e cu t e a c a l l b a c k at the s p e c i f i e d t ime c o n d i t i o n s . See a l s o pa r en t : py : c l a s s : `

p e r i o d i c ` .

288

289 : param accu racy : Repeat t ime i n seconds f o r background t a s k check i ng even t t r i g g e r i n g . Th i s

t ime i s the maximum de l a y between s p e c i f i e d t ime c o n d i t i o n and the e x e c u t i o n .

290 : t ype accu racy : f l o a t

291

292 **Example :**

293

294 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / c ron tab . py

295

296 Wi l l r e s u l t to the f o l l o w i n g output :

297

298 . . l i t e r a l i n c l u d e : : . . / . . / t a s k / e xamp l e s / c ron tab . l o g

299 ”””

300 ANY = ' * '

301 ””” Constant f o r matching e v e r y c o n d i t i o n . ”””

302

303 c l a s s c r on j ob ( o b j e c t ) :

304 ””” C l a s s to hand l e c r on j ob pa ramete r s and c r on j ob changes .

305

306 : param minute : Minute f o r e x e c u t i o n . E i t h e r 0 . . . 5 9 , [ 0 . . . 5 9 , 0 . . . 5 9 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Minute .

307 : t ype minute : i n t , l i s t , s t r

308 : param hour : Hour f o r e x e c u t i o n . E i t h e r 0 . . . 2 3 , [ 0 . . . 2 3 , 0 . . . 2 3 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Hour .

309 : t ype hour : i n t , l i s t , s t r

310 : param day of month : Day o f Month f o r e x e c u t i o n . E i t h e r 0 . . . 3 1 , [ 0 . . . 3 1 , 0 . . . 3 1 , . . . ] o r

: py : con s t : ` c ron tab .ANY` f o r e v e r y Day o f Month .

311 : t ype day of month : i n t , l i s t , s t r

312 : param month : Month f o r e x e c u t i o n . E i t h e r 0 . . . 1 2 , [ 0 . . . 1 2 , 0 . . . 1 2 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Month .

313 : t ype month : i n t , l i s t , s t r

314 : param day o f week : Day o f Week f o r e x e c u t i o n . E i t h e r 0 . . . 6 , [ 0 . . . 6 , 0 . . . 6 , . . . ] o r : py :

con s t : ` c ron tab .ANY` f o r e v e r y Day o f Week .

315 : t ype day o f week : i n t , l i s t , s t r

316 : param c a l l b a c k : The c a l l b a c k to be execu ted . The i n s t a n c e o f : py : c l a s s : ` c ron job ` w i l l be

g i v en as the f i r s t , a r g s and kwargs as the f o l l o w i n g pa ramete r s .

317 : t ype c a l l b a c k : func

318

319 . . note : : Th i s c l a s s shou l d not be used s tand a l one . An i n s t a n c e w i l l be c r e a t e d by

add ing a c r on j ob by u s i n g : py : func : ` c ron tab . add c r on j ob ( ) ` .

320 ”””

321 c l a s s a l l ma t c h ( s e t ) :

322 ””” Un i v e r s a l s e t − match e v e r y t h i n g ”””

323 de f c o n t a i n s ( s e l f , i tem ) :

324 ( i tem )

325 r e t u r n True

326

327 de f i n i t ( s e l f , minute , hour , day of month , month , day o f week , c a l l b a c k , * args , **

kwargs ) :

328 s e l f . s e t t r i g g e r c o n d i t i o n s ( minute or c ron tab .ANY, hour or c ron tab .ANY, day of month

or c ron tab .ANY, month or c ron tab .ANY, day o f week or c ron tab .ANY)

329 s e l f . c a l l b a c k = c a l l b a c k

330 s e l f . a r g s = a rg s

331 s e l f . kwargs = kwargs

332 s e l f . l a s t c r o n c h e c k t i m e = None

333 s e l f . l a s t e x e c u t i o n = None

334

335 de f s e t t r i g g e r c o n d i t i o n s ( s e l f , minute=None , hour=None , day of month=None , month=None ,

day o f week=None ) :
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336 ””” This Method changes the e x e c u t i o n pa ramete r s .

337

338 : param minute : Minute f o r e x e c u t i o n . E i t h e r 0 . . . 5 9 , [ 0 . . . 5 9 , 0 . . . 5 9 , . . . ] o r : py :

con s t : ` c ron tab .ANY` f o r e v e r y Minute .

339 : t ype minute : i n t , l i s t , s t r

340 : param hour : Hour f o r e x e c u t i o n . E i t h e r 0 . . . 2 3 , [ 0 . . . 2 3 , 0 . . . 2 3 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Hour .

341 : t ype hour : i n t , l i s t , s t r

342 : param day of month : Day o f Month f o r e x e c u t i o n . E i t h e r 0 . . . 3 1 , [ 0 . . . 3 1 , 0 . . . 3 1 , . . . ]

o r : py : con s t : ` c ron tab .ANY` f o r e v e r y Day o f Month .

343 : t ype day of month : i n t , l i s t , s t r

344 : param month : Month f o r e x e c u t i o n . E i t h e r 0 . . . 1 2 , [ 0 . . . 1 2 , 0 . . . 1 2 , . . . ] o r : py : con s t

: ` c ron tab .ANY` f o r e v e r y Month .

345 : t ype month : i n t , l i s t , s t r

346 : param day o f week : Day o f Week f o r e x e c u t i o n . E i t h e r 0 . . . 6 , [ 0 . . . 6 , 0 . . . 6 , . . . ] o r :

py : con s t : ` c ron tab .ANY` f o r e v e r y Day o f Week .

347 : t ype day o f week : i n t , l i s t , s t r

348 ”””
349 i f minute i s not None :

350 s e l f . minute = s e l f . c o n v t o s e t ( minute )

351 i f hour i s not None :

352 s e l f . hour = s e l f . c o n v t o s e t ( hour )

353 i f day o f month i s not None :

354 s e l f . day o f month = s e l f . c o n v t o s e t ( day of month )

355 i f month i s not None :

356 s e l f . month = s e l f . c o n v t o s e t (month )

357 i f day o f week i s not None :

358 s e l f . day o f week = s e l f . c o n v t o s e t ( day o f week )
359

360 de f c o n v t o s e t ( s e l f , ob j ) :

361 i f ob j i s c ron tab .ANY:

362 r e t u r n s e l f . a l l ma t c h ( )

363 e l i f i s i n s t a n c e ( obj , ( i n t , l ong ) i f s y s . v e r s i o n i n f o < ( 3 , 0 ) e l s e ( i n t ) ) :

364 r e t u r n s e t ( [ ob j ] )
365 e l s e :
366 r e t u r n s e t ( ob j )
367

368 de f e x e c u t i o n n e e d e d f o r ( s e l f , minute , hour , day of month , month , day o f week ) :

369 i f s e l f . l a s t e x e c u t i o n != [ minute , hour , day of month , month , day o f week ] :

370 i f minute i n s e l f . minute and hour i n s e l f . hour and day of month i n s e l f .

day o f month and month i n s e l f . month and day o f week i n s e l f . day o f week :

371 r e t u r n True

372 r e t u r n Fa l s e
373

374 de f s t o r e e x e c u t i o n r em i n d e r ( s e l f , minute , hour , day of month , month , day o f week ) :

375 s e l f . l a s t e x e c u t i o n = [ minute , hour , day of month , month , day o f week ]
376

377 de f c r o n e x e c u t i o n ( s e l f , tm) :
378 ””” This Methods e x e c u t e s the Cron−Ca l l back , i f a e x e c u t i o n i s needed f o r the g i v en

t ime ( depend ing on the pa ramete r s on i n i t i a l i s a t i o n )

379

380 : param tm : ( Cu r r en t ) Time Value to be checked . The t ime needs to be g i v en i n seconds

s i n c e 1970 ( e . g . g ene r a t ed by i n t ( t ime . t ime ( ) ) ) .

381 : t ype tm : i n t

382 ”””
383 i f s e l f . l a s t c r o n c h e c k t i m e i s None :

384 s e l f . l a s t c r o n c h e c k t i m e = tm − 1
385 #
386 f o r t i n range ( s e l f . l a s t c r o n c h e c k t i m e + 1 , tm + 1) :

387 l t = t ime . l o c a l t i m e ( t )

388 i f s e l f . e x e c u t i o n n e e d e d f o r ( l t [ 4 ] , l t [ 3 ] , l t [ 2 ] , l t [ 1 ] , l t [ 6 ] ) :

389 s e l f . c a l l b a c k ( s e l f , * s e l f . a rgs , ** s e l f . kwargs )

390 s e l f . s t o r e e x e c u t i o n r em i n d e r ( l t [ 4 ] , l t [ 3 ] , l t [ 2 ] , l t [ 1 ] , l t [ 6 ] )

391 break

392 s e l f . l a s t c r o n c h e c k t i m e = tm
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393

394 de f i n i t ( s e l f , a c cu racy=30) :

395 p e r i o d i c . i n i t ( s e l f , accuracy , s e l f . p e r i o d i c )

396 s e l f . c r o n t a b = [ ]

397

398 de f p e r i o d i c ( s e l f , r t ) :

399 ( r t )

400 tm = i n t ( t ime . t ime ( ) )

401 f o r c r on j ob i n s e l f . c r o n t a b :

402 c r on j ob . c r o n e x e c u t i o n ( tm)

403

404 de f add c r on j ob ( s e l f , minute , hour , day of month , month , day o f week , c a l l b a c k , * args , **

kwargs ) :

405 ””” This Method adds a c r on j ob to be execu ted .

406

407 : param minute : Minute f o r e x e c u t i o n . E i t h e r 0 . . . 5 9 , [ 0 . . . 5 9 , 0 . . . 5 9 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Minute .

408 : t ype minute : i n t , l i s t , s t r

409 : param hour : Hour f o r e x e c u t i o n . E i t h e r 0 . . . 2 3 , [ 0 . . . 2 3 , 0 . . . 2 3 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Hour .

410 : t ype hour : i n t , l i s t , s t r

411 : param day of month : Day o f Month f o r e x e c u t i o n . E i t h e r 0 . . . 3 1 , [ 0 . . . 3 1 , 0 . . . 3 1 , . . . ] o r

: py : con s t : ` c ron tab .ANY` f o r e v e r y Day o f Month .

412 : t ype day of month : i n t , l i s t , s t r

413 : param month : Month f o r e x e c u t i o n . E i t h e r 0 . . . 1 2 , [ 0 . . . 1 2 , 0 . . . 1 2 , . . . ] o r : py : con s t : `

c ron tab .ANY` f o r e v e r y Month .

414 : t ype month : i n t , l i s t , s t r

415 : param day o f week : Day o f Week f o r e x e c u t i o n . E i t h e r 0 . . . 6 , [ 0 . . . 6 , 0 . . . 6 , . . . ] o r : py :

con s t : ` c ron tab .ANY` f o r e v e r y Day o f Week .

416 : t ype day o f week : i n t , l i s t , s t r

417 : param c a l l b a c k : The c a l l b a c k to be execu ted . The i n s t a n c e o f : py : c l a s s : ` c ron job ` w i l l be

g i v en as the f i r s t , a r g s and kwargs as the f o l l o w i n g pa ramete r s .

418 : t ype c a l l b a c k : func

419

420 . . note : : The `` c a l l b a c k `` w i l l be execu ted wi th i t ' s i n s t a n c e o f : py : c l a s s : ` c ron job ` as

the f i r s t paramete r .

421 ”””

422 s e l f . c r o n t a b . append ( s e l f . c r on j ob ( minute , hour , day of month , month , day o f week ,

c a l l b a c k , * args , ** kwargs ) )
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